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Candidates must write the Code on the
title page of the answer-book.

o YA T H T Toh 38 Y- § qfgd I8 12 & I 2 I8 WA h @ |

o TH-UA H TEH T H AR T T HIE TR Hl BH IW-YEIH 6 JE-I8 W
forg |

o FYA IE WA W yATA H 227 F |

o THUAT U T I fIGHT I[& e W Uget, T 1 ShATHh Ay o |

o T YHUA Hl UG o 1T 15 fire 1 Twy fon mn @ | WA o foao gatg
T 10.15 &< fopam M@ | 10.15 S @ 10.30 S dh D hael YIH-UT I gl
3TN 39 AT & GRA o IT-YFEdh! T g I &1 fora |

e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

e (Jgi=r)
GEOGRAPHY (Theory)
REgiRa a7 : 3 o2 ST 37 : 70

Time allowed : 3 hours Maximum Marks : 70
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3G Jo7-97 4 FA22 F9T & |

Tyt g97 AT & |

o7 Q&1 1 8 7 37fa TG-ITT F7 & | TP Jo7 1 37 BT 8 | JAH 97 HT
I 40 ¥Ieg] & 3718 787 &7 FET |

Y97 G 8 T 13 TTY-3IF0T J97 8 | I4% J97 8 3 H & | FIF o HT
I 80 - 100 sz & 37 757 &1 T30 |

97 &7 14 T 20 -39 397 & | I9F J97 5 37 BT & | AP T BT
I 150 I3 @ 3718 77 &1 F05T |

97 &7 21 HITciw T H1 TEEET YT 37 T forgd @ gafad 8 | 9T
q&IT 22 YIMicrs e # fEdfa F1 3uges gl @ §d @ gada § | 9%
Jo75 37 F & /

37! 13T T fava aoT YR F IG@r-qrfA B FR-JleddHT @ GorT T
# /

{GT-TrfE] & @M & 77 @t 77 2¥aeied & 3717 &1 3FHlT & il
g/

General Instructions :

(1)
(i)
(iii)
(iv)
(v)
(vi)
(vit)

(viii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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SECTION A

sfee el T8t waTe o ° I fordll ue yatawfiy wuE hi v i |

Examine any one environmental problem that emerged in the Indira
Gandhi Canal Command Area.

‘Pl =Y I qAT SR 9 Y YW H IR T HIT |
HAYAT
oy aftr F Ao oS i F i T HRA |
Differentiate between ‘Culturable wasteland’ and ‘Barren and
Wasteland’.

OR

Differentiate between ‘Dryland farming’ and ‘Wetland farming’.

TUR H Y597 Tceh] ol fohH JehR TR hidl & ?

How does ‘landscape’ attract tourists in the world ?

39 Yfirg urguetts &1 A fafgw, S Bfeds ft @€ & dd N H GIE
TS TR & IT-gdf Tsat & e 2 |

Name the famous pipeline which connects the oil wells of the Gulf of
Mexico to the North-Eastern States of USA.

T & Fhegl 31 I Ri % T fARau | é+
HAAAT
RA o fehegl g IRl TRI & a1 fafEu | é+

Name any two ancient towns of India.

OR

Name any two medieval towns of India.
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JThHIRT H SHI-SIFerR TqfaT U1 § ToF SEEAT 8iH oh J&F BN I {eeiyor

i |

STt
MYATE 3 I T 3Tt T hIfSu |

Analyse the main reason for dense population in ‘Katanga-Zambia
Copper Belt’ in Africa.
OR

Differentiate between immigration and emigration.
39 ‘graeer 1 AW fafgy, 8 YRa # SHEen 6 R gig’ i ety - &
T ST AT R

Name the ‘phase’ which is known as the period of ‘steady population
growth’ in India.

Qs @
SECTION B

= feu mu s #1 gagHigds e hife it 3k fiw fow o vt %

I fafaw 1+1+1=3
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8.1) 39 fowpfem o w1 9w fafau, S|l FiE & # w@aifys gRd
UICEIGREIDIRS I

(8.2)  Torm foemraefict <1 # UTioT &1 H WaifUe 3TRa fermgaTd 9T S
g2

(8.3)  ford Tomfea <@ © wmfioT &1 o watfes Wit foRmgama 9rm S & 2
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Study the diagram given below carefully and answer the questions that
follow :

1200 1

03 1083 1072 1062 1051

& 1000+ Il Urban
g Rural
o 800
S
2 .
., 6001
)
o
2 400
=
g 200
=

) Zimbabwe Canada Brazil Nepal Finland New
Zealand
(8.1) Name the developed country which has the most favourable

sex-ratio in urban areas.

(8.2) Which developing country has the most favourable sex-ratio in
rural areas ?
(8.3) Which developed country has the most unfavourable sex-ratio in

rural areas ?
Fie :  HricIiad ge FacT givaTiaa ghgniaal & 079, 397 GEq1 8 & T W B -

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 8 :

TUR o $ o § formuTa wfgeret & gfaea w=if 8 2 Tuse Shifvu | 1+2=3

Why is the sex-ratio unfavourable to women in some countries of the

world ? Explain.

9. WA 9™ & T 9990 TH % ®9 H Gad G9uiEar sl Fehed 1 oo
HIFTT | 3
T
AHE fohE % de8 AE@qUl Ul H ¥ T GHAr hl HehoddT I TR
HIFTT | 3

Evaluate the concept of ‘sustainability’ as a strong pillar of human
development.

OR
Evaluate the concept of ‘equity’ as one of the most important pillars of
human development.

5 P.T.O.
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10. fova =R e (S, &.21.) i Tt R oty =i foam o 8 2 fonedi
T HION ! TS HIfT | 1+2=3

AYAT
HAT ot (e T 9R) % YR W ffehd fF SRR o THG qoHl ohl
1 HIT | 1x3=3
Why has World Trade Organisation (WTO) been criticised and opposed ?
Explain any three reasons.
OR

Explain three types of seaports classified on the basis of cargo handled by
them.

11. YRA o G oA o FEaTd Y& 1 T HiTT, | 3

Evaluate the changing patterns of the composition of India’s imports.

12. fou 7w amfm o grauHigEs sterem e it sus = o e gwi % 3w
faRau : 1+1+1=3
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(12.1)

(12.2)

(12.3)

Study

follow :

AT | few@u U &gl Te SEaTd 999 sl UgeH shifviw 3T 3Een
I fafau |

3 IET Ud S¥Td G¥3 o ¢ HTHIS & Gidi 1 3@ shifag |

Ig g1 T 3ETd G Tord Yok 3Tenfirer foerd T STMUR QIR sRdn
72

the given map -carefully and answer the questions that

Iron & Steel Plant

M Manganese
W Steel Plant

. 7'/-\’ Gorumahisani

Kiriburi Kutupit
Bonaigarh B4
(12.1) Identify and name the iron and steel plant shown in the map.
(12.2) Mention the sources of manganese for this iron & steel plant.
(12.3) How does this iron and steel plant form a base for industrial

development ?
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Fie :  FHEICIRGT F97 HIcT FIBATEIT ghgniaan & g, J97 &1 12 & 97 W &

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12 :

WIE T SEAId I I Wt ST @ el ST @ 2 ISl Efgd T
HIT | 1x3=3

Why is the iron and steel industry known as ‘heavy industry’ ? Explain

with examples.

13. Ta-Fwaeang 61 Gehed fohem Teqa 1 ? Fa-fvemarg 6t geheut Sl fohal &t
forryarant w1 quia hifs | 1+2=3

Who introduced the concept of Neo-determinism ? Describe any two

features of this concept of Neo-determinism.

Qug T
SECTION C

14. TER H yafia e fatg oW i feeal ai fomiwaneti 1 s i | 1x5=5

Explain any five features of ‘Intensive subsistence agriculture’ practised
in the world.

15. YR 3 AT o Uged Ud U el shi SR shifa | 3+2=5
T

“IuTg TER s Akl | HEEYUl et 9T W 7 17 3UTh 3aevl aigd 359
A hl gfse HifvT | 2+3=5

Explain the importance and achievements of Indian rail network.

OR

“Satellite communication is playing an important role in several ways.”
Support the statement with suitable examples.

16. WA § S YGUYT o HRUN T THTEl 1 fowaryr i | 3+2=5

Analyse the causes and consequences of water pollution in India.

641113 8



18.

19.

20.

“ger | w2 YU % I <l feufaEt il sTes e fuifa s 2 17 wm

A 61 gfse il | 5
ST

“gar w A fafmio s o 3= drenfiehl adban f 8 17 39 wem i gfee

i | 5

“Locations of large scale industries in the world are determined by
several factors.” Support the statement.
OR

“High technology is the latest generation of manufacturing industries
across the globe.” Support the statement.

foerrasfiar <t ® TR Sfcan i fovdl dta Ig@ FaEsti &1 avie $IfT | 1x5=5
Describe any five major problems of urban settlements in the developing
countries.

el GETERT Bt SR A AT ST SR 2 W & et SereE % e %
el e ] 1 s HIRTT | 2+3=5
AUAT

“ATIT ST b G Alh e Tiiefah-3TRa 3R il ol 3qcrsd
HUd & |” IUYH 3TN afgd 36w 6t gie Hfrw | 3+2=5

Why should mineral resources be conserved ? Explain any three ways to
conserve mineral resources in India.

OR

“The non-conventional energy sources provide more sustained,
eco-friendly form of cheaper energy.” Support the statement with suitable
examples.

“forepre AT €9 ¥ IR W fasee o &9 @, gmrieres faem § W 8H
Tt Toh Al Hehed 1 8 | 30 T 1 WRA o HeH H fawarwor i | 5

“Development in general and human development in particular, is a
complex concept used in social sciences.” Analyse the statement with
reference to India.

9 P.T.O.



21. HWER % U T TSHifos @A (98 13 W), W 9rE HEicle devi <h
A, B, C,D 3R E ¥ fegrn g | 39! ugaH Fefdfad SHerl i Teg @

hifoTE 3 I9eh T AW 3 T8 Gidl 718 W@rel W fakau - I1x5=5
A, AR 9y qTH

B. Yq@ HHgl qoA

C. Tt qusy =1 & yq@ &

D. §m &

E. 3heEifies wem

On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct

names on the lines drawn near them :
A. An international airport

A major seaport

C. A major area of subsistence gathering
D. A mega city
E. An industrial region

g :  HEkiiad 3eT #aa g ghgniaal & g, JvT @ 21 & €
WE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) U9 o Tl Toh Y@ FHG 9o 1 AW A& |

(21.2) URMET % fhel T AU 91 9o o1 19 e |

(21.3) gfegur sTHfER o fopelt T A R w1 A fafaw |

(21.4) I IHRT o Teh IR T30 o 9H fARgu |

(21.5) 3ThIhT o Y@ fafe d@ugw &= 1 9 fafaw | 1x5=5

641113 10



(21.1) Name any one major seaport in Europe.
(21.2) Name any one international airport in Asia.
(21.3) Name any one mega city in South America.
(21.4) Name an industrial region in North America.

(21.5) Name the major area of subsistence gathering in Africa.

22. WRA % U U TSHifoe W@-AERE (98 15 W), § Fefafea 9 9 faegt orer
Hiifcteh Tegon i fe@msy 3R Ik 9 fofen Ix5=5
(22.1) 37T H TH g 30Eh GH
(22.2) a8 U9 fan sty 6t T qay Aty 3
(22.3) TGS 1 JUN 3G TSI
(22.4) 3TEH 1 U ARG a1g q0H
(22.5) T Y Tl Teh HFEAIN oIS UTeh
(22.6) TSRIA %I Th ot IMET HREHT
(22.7) 98 UsF T8 TR 1 TR 998 $H 3
(22.8) gferft @ AUSH T YA

Locate and label any five of the following geographical features on the
given political outline map of India (on page 15) :

(22.1) An Iron Ore mine in Odisha

(22.2) The State with the largest number of immigrants
(22.3) The leading producer State of rice

(22.4) An international airport in Assam

(22.5) Software Technology Park in Madhya Pradesh
(22.6) An Oil refinery in Gujarat

(22.7) The State with lowest level of urbanisation

(22.8) Headquarter of Southern Railway zone

641113 11 PT.O.
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Fig:  [AEligd 397 o gIEETaT et & g, 397 G&IT 22 @ T W
& | faeg? i yoi & 3w Ffow |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) 319 & ST Y go sl 4 ferfau |

(22.2) HET YN o HIFEIIL SHIATST UTeh o1 ATH Tl |

(22.3) STIHIE % Teh Tl 3TFh @H i 99 fafau |

(22.4) 3T TF 1 9 fafae, fored smyanfet 6 g o8 1faes 2 |

(22.5) =TEd < IO IcATGh s 1 A fIRaT |

(22.6) TSIA < TR T da IEA HREH 1 AW fafaw |

(22.7) cferoft I Hved & gEaTerd 1 9 faReaw |

(22.8) TR % TEH HH TR ATl TsT H1 W fafaw | 1x5=5

(22.1) Name an international airport in Assam.

(22.2) Name a software technology park in Madhya Pradesh.
(22.3) Name an iron ore mine in Chhattisgarh.

(22.4) Name the State with the largest number of immigrants.
(22.5) Name the leading producer State of rice.

(22.6) Name any one oil refinery in Gujarat.

(22.7) Name the headquarter of Southern Railway zone.

(22.8) Name the State with lowest level of urbanisation.

641113 12
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For question no. 21
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I3 9. 22 & forw For question no. 22
TR T {@I-Ue (T ifeen)

Outline Map of India (Political)
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